YRR2TEEREE VYT 1P IV EFIEE 1 BRI TEGR
=iz BRANY R —BEE( 7032Yards Par 72)
HI8 ¢ 48148
TIYUEU—: 142%
HiZ: 1318
V) BEl FhiE 237 V) Bl FhE 237 V) BEl FhE V) BEl FhiE 237
1 MM KB orpqozor~ 68 (34.34) Z28% oA =st5 81 (37.44) KR IEE ==F¥E 87  (44.43) 128 27 FB =t 95  (52.43)
2 Blf BRE =8 71 (37.34) BABE == 81  (37.44) BE % BIETT 87  (43.44) EEABAN #F-2-euxz 95 (45.50)
3 SOUA @l Fryeo 75 (40, 35) 4 IHBEE cEER 82  (43.39) T E=X W 87  (43.44) 125 WD & BRI 96  (51.45)
FF 5hE 75 (38.37) RO E &E 82  (41.41) MR BX  #-5.c0x 87 (43,44 73 & PERER 96  (47.49)
5 @& 8T BEWE 76 (41,35) - ME FTEBE-— G0 N | =B 87  (43.44) 127 K& [E BFE 98  (47.51)
Ay IEE VBE-MEB 76 (40, 36) ME HABR BressA 82  (41.41) Ws 1R s 87  (41.46) 128 OB @Z @EE)— 99  (53.46)
Wwa B stiER 76 (39.37) ANiIF ¥17 RPeLx 82  (41.41) 88 IN\EFIF BXK m 88  (47.41) =B EMY—Yr k99 (49, 50)
=i SiPE HRER 76 (38.38) i HZE  =xRAA® 82  (41.41) BE KT ZE 88  (45.43) INVA BB SWiE 99  (48.51)
6l EABS S+ >vei 76 (38.38) KR ¥S ALRZPY 82 (40.42) /K EE Ers 88  (45.43) 131 Hif & wERLHFDD 103 (51,52
BE 2% AnEEE 76 (38.38) MAIEA @0 82 (40,42 Kig HEE  ®s 88  (44.44) xig BN Rl =t=
n PEE - =teR 77 (40,37 e & 5= 82 (40,42 8K ERD  1BEF 88  (44.44) &g PUSE Tl @R
fUsf 288 B3 77 (40.37) &M B ZrFuy 82 (40, 42) 083 muy-—vrr 88  (43,45) x5 R/ & LA UR—
B AKX AV 77 (39.38) ZE 1BE =X 82  (40.42) X BEIE =mER 88  (43.45) xig N BE =t
REE t5—B0 \BE-MEB 77 (39.38) INEIR BBA BBE 82  (39.43) KNG 8 BrESRA 88  (38.50) x5 228 1888 =1/hwW
WH &8 AW mmas 77 (39.38) 55 EE R FULEwD 83 (44, 39) 96 RTT Hfi— =xFvy 89  (48.41) x5 RN &= EHESST
16 fOE K& A 78 (41.37) RS BE R 83  (43.40) MIF RS s 89  (45.44) xR SN IRZ LA YR—
ﬁK 1%@ B 78 (40, 38) E%y %Y PEY v N — 83 (42, 41) *2;:}: {&Z HTE 89 (44 45) Ri5 ’U—F J—.Efff JGM £A/TLZFOR
=B fE  RPeLX 78 (40, 38) Bl Er =tER 83  (42.41) 8 | xroumsvr 89 (42.47) x5 FOANAE st
RINRE  Zhhw 78 (39.39) B2 =W poanrscy 83 (42.41) 100 K& St A=8H 90  (48.42) &% B B smvevku—
IR FlBA  =tx= 78 (39.39) KR =2 #23 83  (40.43) AARZE 4 90  (47.43) xRS THE 2 =B
BA BE  a@mvevmu— 78 (38,40) INR TBER SIPB 83  (39.44) KTIG BRK va3—72 90 (45, 45)
EF BN =rFvY 78  (38.40) 62 ER B BE 84  (42.42) FE I8 EBrEsmK 90 (44, 46)
23 Bl M ER 79 (41.38) sWa BiR 84 (42,42 BRWEBEZ  ALRZPY 90 (44.46)
X EE  ERER 79 (39.40) BN MY 84  (40.44) S H—  Juvseowr 90 (44,46)
EE B2 @PalCovx 79 (39.40) AW BT &R 84  (40.44) GA B EDEA 90  (43.47)
BitE E— BE 79 (38.41) 66 it BR == 85  (46.39) 107 HE 588  esovems 91 (46, 45)
21 IR FBXR =x= 80  (42.38) T OFET  =rEy 85  (46.39) MR 7B Juwoeowr 91 (46, 45)
BN 55—  Amz-mes 80 (41.39) BAE— == 85  (42.43) 100 fi5)ll SR R 92 (46, 46)
s AR =x= 80  (41.39) T2 BURER 5818 85  (42.43) =S8 70 mmy-vrr 92 (46, 46)
ERZHA B mmnveu— 80 (41,.39) BB EE LruR- 85  (41.44) BRE & RPELX 92  (45.47)
T KB ErEssA 80 (40, 40) =REZFE Fpueo 85 (40, 45) BH S & 92 (43.49)
B3 5% Pz 80  (40. 40) BT Bw 85  (40. 45) 13 EA & [EESNIN 93 (49.44)
50 SR =3 80 (40, 40) 713 YW Bk =g 86  (45.41) 20 K8 = 93  (48.45)
KRE =B =BE 80 (40, 40) 0 B =LEKR 86  (45.41) #1308 dch =8 93  (47.46)
3 “WHRE— mxnvru— 81 (46.35) hEXE = 86  (44.42) PPN FEE  EREHDD 93 (47.46)
IGE 28 IhFs 81  (43.38) 2 B Fruoxrk 86 (44.42) ME Re BE 93 (45.48)
BN A BENII 81  (43.38) Fib =N  Awmr-mms 86 (43.43) AT EAN EFE 93 (44.49)
PhEER K& 81  (42.39) WA HE EHsBT 86  (42.44) Fe ) B 93 (44, 49)
BIR &8 EW 81  (42.39) 79 I\VE BAER R 87  (45.42) 120 1k =5 s 94  (49. 45)
0 B  xB@ 81 (41,40 HE BR  Feveo 87  (45.42) B e mmyv-v ke 94 (47.47)
fIEp F04&  ~OY 81 (41,40 B ISA  EBrEsak 87  (44.43) #H B— = 94 (46.48)



